VELOX 100P RIRFLOW
VELOX 100R

User Guide

& B F



Contents / B %

ACCESSOTIES / BRAH .o 3
Specification / BEERFRIE ... 4
Case Features / #3%4% 8 (MPG VELOX 100P AIRFLOW)....ooiiuiiiiiieieeens 13
Case Features / #3R456 (MPG VELOX 100R) .....ovoovoveoceeceeeeeeeeee e 7
Side & Front View/ BIETFATE.......co.ooreereereereiee e enees 8
10 PANEL/ 10 TEIHR ..vvevevveermeiereeiecenesess st 9
3.5" HDD Installation/ 3.5" BEREZZEEFTTU ......ooovvvecececcee e 10
2.5" SSD, HDD Installation/ 2.5" SSD FIBEERZERTTEN ...ovvvocvccccc 11
Opening the Left & Right Side Cover/ BIRUEARIAR .........oooovverrincncs 12
Motherboard Installation / ZREEFEHERR ...oooovvvereeeec s 13
Graphics Card Vertical Installation / BEEREERER T .oovoovvveecereecnreeen 14
Graphics Card horizontal Installation / ZKFFZEERERE ..o 15
ARGB Fan Connection / &4 ARGB AR .......cccooomrvernreireneiieceeeneeisseeeseninanns 16

Control Board Specification / ¥R A&

PSU Installation / ZEEEEIRMIERS ..o 19




Accessories / et

Name &18/ Q'ty $i=

Cable ties
x5

Item I8H

Used for i

Cable management

i

Screw #6-32 5mm

@ [mm R

Securing liquid cooling

radiator

EEK S HE

Fan screws

@ I]:\mm AR RIE4
x4

Front 120/140mm fan
AIE 120/140mm A

Screw #6-32 10mm
FEiRsh
x2

Securing drive tray

B ERRBRIE AR

Screw #6-32 6.5mm

Motherboard Stud

x1 FHEARIRE
Screw M3 5mm Motherboard / SSD
x21 Fi#k / SSD
S”e‘fg’éff”‘m PSU / PCle Card
i EIRLAESR / PCle £
Screw #6-32 5mm .
jd 3.5" HDD
H|FEIR 4%
‘fg?‘“% 3.5 BERE

holder kit

x1

Vertical graphics card

EHRTIXREN

Installing graphics card

RERETR

1H 3 ARDER

x1

1 to 3 fan splitter cable

Connecting 3 fans

% 3 B




Specification / B

Fan LED Controller
[EUR3 LED ¥4Itk

1to 6 ARGB (3 pin) Control Board

MPG VELOX 100P AIRFLOW
Front: 3x 120 mm black fans
Pre-Installed Fan Rear: 1x 120 mm ARGB fan
AR MPG VELOX 100R

Front: 3x 120 mm ARGB fans
Rear: 1x 120 mm ARGB fan

Case Dimensions 474(D) x 231(W) x 490(H) mm
AR 18.67(D) x 9.09(W) x 19.29(H) inch

Motherboard Support

S THIR E-ATX/ ATX/ M-ATX/ ITX

Drive Bays 2x 2.5" SSD trays
FEfRiE 2x 3.5" HDD trays

1x LED switch button

1x USB 3.2 Gen2 Type C port
2x USB 3.2 Gen1 Type A ports
1x Mic in jack

10 Panel
10 EtR

1x Audio out jack
1x Reset button
1x Power button

Top: 120 mm x3 / 140 mm x2
Fan Support Front: 120mm x 3/ 140mm x 3
ZEER Rear: 120 mm x 1

Side: 120 mm x 2




Radiator Support
SHRKISHE

Clearance

=

Material

HE

Dust Filters

TREERH

Top: 120/ 140/ 240/ 280/ 360 mm
Front: 120/ 140/ 240/ 280 / 360 mm
Rear: 120 mm

Side: 120/ 240 mm

CPU Cooler Height: Max 175 mm / 6.89 inch
Graphics Card Length: Max 380 mm / 14.96 inch

PSU Length:Max 220mm/8.66inch
(without 3.5" HDD tray installed, #EZ25£3 5" F@hE 5 20)

Chassis: SPCC 0.6 mm
Left Panel: Tempered glass | ZE {8138 L3R )
Right Panel: Metal [ A {1#84R )

MPG VELOX 100P AIRFLOW
Front Bezel: Plastic + Mesh ( BIEITR¥EEE + 848 )

MPG VELOX 100R
Front Bezel: Plastic + Glass ( BIEIR2EAE + 315 )

Right side dust filter ( aFHEERAE )
Bottom dust filter [ FRAEEEHE )

MPG VELOX 100P AIRFLOW
Front: Metal vents + Dust filter (BTSEREEFL + BHEEBAE)

Top: Metal vents + Magnetic frame dust filter PVYC mesh

| TREPSEARIERFL + PVC BAMEAERSBERAT )

MPG VELOX 100R

Front: Tempered glass without dust filter | BiEIR3R LI
IR )

Top: Magnetic frame dust filter PVC mesh ( TS PVC i
Tﬂﬁﬁ)‘igﬁiﬁ )




Case Features / #3%45€ (MPG VELOX 100P AIRFLOW)




Case Features / #3545t (MPG VELOX 100R)




Side & Front View/ | E#N#iE

490mm

231Tmm

200mm

A,

Sy,

474mm

463mm

L, PG
R AR TR
R R I A TN




10 Panel / 10 EtR

il Ry o i
W4 DRI Gy oy
U UL o oy
o N DRy o oy
LRy oy
LRy L 0y

w.m

&

S &
s ™
=)

w E oS!
29T E X
~ o o H = o
sEE EF@
£ F < =
Sa - @§E~ T
o - < IInnE c §
c o oM — S £
SO ol = £ 5
23~ 5 5 3
2 YN~ 5 a2 ?
5 ®® oo % &
oo o ;5 o9 2

w v v

1111111



3.5" HDD Installation/ 3.5" I RE AN

AL AT




2.5" SSD, HDD Installation/ 2.5" SSD FfEERIEF R




Opening the Left & Right Side Cover/ BIR{AE R IR




Motherboard Installation / 3£ £ iR

.

» %& ,

)




Graphics Card Vertical Installation / EEREEEETF




Graphics Card horizontal Installation / KRBT F

S




ARGB Fan Connection / i#$% ARGB R

LED switch control description: (
1. Short press the LED switch once to switch the LED effect

2. Press and hold the LED switch for 3 seconds the LED flash white light once,
and then into the MSI motherboard Mystic Light synchronization mode.
Short press once to back to the Hub control mode.

3. Press and hold the LED switch for é seconds to turn off the LED. ,

- ’

ARGB Fan
ARGB &3

SYS_FAN

N

ARGB Fan -l
ARGB A&
=|=—> T
SYS_FAN
ARGB Fan
ARGB A&

' ),
==L =i

SYS_FAN
11
@ Note /5 SATA Power ‘
SATA B

e Support up to 128 LEDs, Exceeding this limit will
lead to overheating, abnormal color or no light.

o RASZIE 128 B LED, HBBIUIREEEEHBE. \
#B., 75 < =




2. RIZLEDIRASTIE > EBHEPIME—R O e RBIEATHE TR
Mystic LightRH 1R 5232 — iR 0] B 4R 2 i IR = o
3. MELED#ZER6FV S RI BARALED

ARGB Fan
x ARGB &3

D LED Switch | LED}%$RiZ5RE8:
LED %48 1. SR LEDIZER A AL EDRR

( ))

ARGB Fan
ARGB E&E

T B
- N sys_FaAN

ARGB Fan
ARGB B &

: =
)
===

SYS_FAN

|

[T
Connect to the MSI motherboard JRAINBOW connector
EIEEIRE AR JRAINBOW 288



Control Board Specification / ¥ 5§78

50 x 30

DC5V Addressable RGB LED

4% LED #88

1x LED switch connector (LED $%#H#%58 )

1x SATA power connector (SATA RS )

= 1x MSI motherboard JRAINBOW connector [ 2 1R
1% JRAINBOW 455 )

6x 3-pin ARGB LED connectors (3 # ARGB LED #%88 )

Connectors

ARGB Pin Definition

ARGB #HIES

Ground Data +5V

LED effect cycle: LED MRBIR:

1. Rainbow 1. R

2. Seven-color trailing 2. tEBiER

3. Seven-color gradient 3. @S

4. Violet LR

5. White =)

6. Blue 6. EE

7. Cyan 1. 58

8. Green 8. &8

9. Yellow 9. &

10. Red 10. 4168
LED Effects 11. Rainbow breathing 1. FATIFR
(1 short press the 12. Red breathing 12, ATEIFIR
LED switch) 13. Yellow breathing 13. IR

14. Green breathing 4. 43 EBIEIR
LE_D i 15. Cyan breathing 15. H BIER
(#5#% LED #8 ) 16. Blue breathing 16, EEIFR

17. White breathing 17. B &M

18. Violet breathing 18. REBIEIR

19. Fixed rainbow 19. B R4

20. Red 20. 418

21. Yellow 21 &

22. Green 22. 4B

23. Cyan 23. 56

24. Blue 24, BEEB

25. White 25. A&

26. Violet 26. R




IR FEER

1

v

PSU Installation / R&EE

(SRR SoSseeeess

S SSSSSSSSSSSSs S yayayatat
SRS 5
SiSis ‘MIIWI?‘NII‘MII%C "\.\llﬂ

SRR
S
SSSSSSSSSSs




